MA 265 ASSIGNMENT 37

In problems 1-4, find the general solution to the differential equation.
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6. Find the particular solution x(Z) to the differential equation of problem 2 such that
x(0) = {‘21]

7. Find the particular solution x(¢) to the differential equation of problem 3 such that

%(0) = {_43}

8. Find the particular solution x(¢) to the differential equation of problem 4 such that
x(0) = | °|.
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Answers

1. x(t) =cél {smt} + et {—cost}
cOS
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3. x(1) = cre™ {— cos(2t) — Sin(%)} et {cos(?t) — sin(2t)
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5. x(t) = ¢ {

cost + 281I1t:|

7. x(t) = ¢ { 4 cos(2t) — sin(2t) }

—3cos(2t) + 5sin(2t)



